



The new Fiesta's leave the small car competition far behind. Take the Popular Plus for example. It has the new sleek aerodynamic shape and wrap round bumpers, improved suspension bodyside moulding, heated rear window, tailgate wash/wipe, retrimmed seats, handsome new dashboard with digital clock—and much more.

Even the engines have been improved. The 1100cc version does 57.6 mpgf at 56 mph. It's quite a luxurious car at, of course, a very modest price

1Gor. fuel economy figures for 114-speed — mpg lifries /100 km) 57.6 (4.9), constant 56 mph (90 kmh) 57.6 (4.9), constant 75 mph (120 kmh) - 1.5 (6.8), Urban cycle 45.6 (62)

Come and see the little car that thinks big.



**Furrows for Ford** 

### SHROPSHIRE'S MAIN FORD DEALER

Coton Hill, Shrewsbury riaygate Road, Wellington Salop Road, Oswestry Shrewsbury 3631 Telford 42433 Oswestry 654141

M.E. 13 6

Cores Hace



FURROWS
SHROPSHIRE
CRICKET
LEAGUE
HANDBOOK

1986

Printed by North Shropshire Frinting Co. Utd. Tel. Wem (0939) 32796

### SHROPSHIRE COUNTY CRICKET CLUB

When and where to see the County in action in 1986:

### **Minor Counties Fixtures:**

Sun./Mon., 1st-2nd. June v. Cheshire (Nantwich) Mon./Tues., 16th-17th June v. Devon (Bovey-Tracey) Wed./Thur., 18th-19th June v. Cornwall (Falmouth) Wed./Ihur., 18th-19th June v. Cornwall (Falmouth)
Sun./Mon., 29th-30th June v. Buckinghamshire (Bridgnorth)
Tues./Wed., 15th-16th July v. Berkshire (Wellington)
Mon./Tues., 4th-5th August v. Somerset II (Taunton)
Wed./Thurs., 6th-7th Aug. v. Dorset (Bournemouth)
Tues./Wed., 12th-13th Aug. v. Oxfordshire (Shrewsbury)
Tues./Wed., 19th-20th Aug. v. Wiltshire (Newport)

### Minor Counties K.O.:

Sunday, 8th June v. Oxfordshire (Christchurch College)

### Second XI Fixtures:

Sunday, 18th May v. Montgomeryshire (Wrekin College) Sun. 13th July v. Cheshire II (Shifnal) Mon. 28th July v. Herefordshire Cricket Assn. (Away) Sun. 24th August v. Denbighshire (Brymbo) Thur./Fri. 28th-29th Aug. v. Worcs. Club & Ground (Wem)

### Shropshire League Representative Matches:

Sun. 1st June, 2 p.m. Lower Divisions XI v. Wellington Sun. 3rd Aug., 2 p.m. Lower Divisions XI v. Wem Wed. 27th Aug., 11 a.m. Under 25 XI v. Herefordshire U.25 (Ludlow)

### **GRAEME SEATON SPORTS**

6 MARKET SQUARE, WELLINGTON, TELFORD, SHROPSHIRE Telephone: 52259

### also at THE MALL, TELFORD TOWN CENTRE Telephone: 504877

See our superb range of:

BATS & EQUIPMENT

Gray-Nicholls

Stuart Surridge

Gunn & Moore

Slazenger

CLOTHING

Umbro Bukta

Ken Barrington

**County Sports** 

**BOOTS** by

Winit Patrick Adidas

Inter

Undoubtedly the best selection in the county **BIG DISCOUNTS AVAILABLE TO SHROPSHIRE LEAGUE CLUBS** 

### HERN, WATERS & CO

**INSURANCE BROKERS** 

We offer -

Professional Advice

Market Knowledge

An Independent Approach

Personal Service

Life Assurance: Pensions: Accident: Fire: Motor Business Risks: Household: Holiday: Farm Risks

20 Broad Street, Ludlow, Shropshire Telephone: Ludlow 3000 & 5000

ESTABLISHED OVER A CENTURY

### JOHN WILLIAMS

ASTON ROAD, SHIFNAL :: Carpenter & Joiner ::

FUNERALS COMPLETELY FURNISHED

DAY OR NIGHT SERVICE

Telephone: TELFORD 460669



### Sandwell Castings Ltd.

Bank Street, West Bromwich, West Midlands B71 1HE

2



Telephone 021-588 2231 Telex 336894

### SHREWSBURY AND ATCHAM LEISURE SERVICES

SWIMMING BATHS:

The Quarry, Shrewsbury

Tel.: 3583

FISHING:
Tel.: 61411
Permits available from
tackle shops in
Shrewsbury



GOLF: (No membership required)
Meole Brace, Shrewsbury. Junction A5/A49
Tel.: 64050

### **TEMPERTON & TEMPERTON**

Auctioneers, Valuers, Estate Agents and Surveyors
71 MARKET STREET, OAKENGATES, TELFORD
Tel.: Telford 612516/7
and 25 HIGH STREET, NEWPORT

and 25 HIGH STREET, NEWPORT Tel.: Newport 812519

Agents for the Halifax Building Society and the Yorkshire Building Society

- Sales of Town and Country Properties
- Agricultural Valuations and Surveys
- Valuations for Probate and Compulsory Purchase



Specialists in First Class Cricket Equipment for : SCHOOLS, CLUBS, ORGANISATIONS & INDIVIDUALS

1-3 Belle Vue Road Wrexham Clwyd Tel.: (0978) 359891

Contact Stuart Mason (0978) 355950



CHESHIRE STREET, MARKET DRAYTON, SHROPSHIRE TF9 3AA Telephone: (0630) 2444 (5 lines)

From the people who care Specialist Servicing for Austin — Rover — Jaguar



Nr. Bridgnorth, Shropshire Telephone: Quatt 780235

Tenants: Pam & Paul Turton

BANKS'S ALES

### **News Centre** Video Club

178-9 ABBEY FOREGATE: SHREWSBURY

Telephone: 50800

Wide range of VHS & BETAMAX

Best selection of greeting cards in area, always available

### INDEX

	Page
Officials	7
Constitution	8
Rules and Playing Arrangements	11
League Fixtures 1986	15
1985 Honours	20
Previous Winners	21
1985 League Tables	22
Best Individual Performances 1985 (incl. Highs and Lows)	24
1985 Averages	26
Knockout Competition Rules	32
1986 Knockout Competition Fixtures	34
1985 Knockout Competition Results	
and Previous Winners	35
Club Secretaries	36
Captains and Weekend Contacts	38
Umpires Panel	40
1985 League Representative Games	41

### FOREWORD

Once again, I am honoured to introduce this year's Handbook. With the 1986 season upon us, please forgive me for dwelling briefly on the past twelve months. The highlight was, of course, provided by our representative side who yet again did us proud by capturing the Midlands Club Cricket Conference Trophy for the fifth time in seven years. Also very satisfying was the competitiveness shown in our domestic game where almost all the Divisions were closely contested to 'the death'.

It would, however, be wrong of me to paint a picture of complete sweetness and light for last season provided me with one of my saddest memories since becoming Chalirman, around seven years ago, when two clubs were expelled from the Village Knockout Competition. Without going into detail, I feel that a lack of communication was responsible for this regrettable situation arising and I sincerely hope that such action will never have to be repeated.

Turning to happier matters, you will be delighted to learn that the League's major sponsors, Furrows Ltd., are very satisfied with the way things have gone during their initial season with us. It is therefore up to everyone within our organisation to do our utmost to see that this state of affairs continues. Still on the 'Shropshire Star', the 'Journal' newspapers and Peter Wilkinson for their so valuable contribution to cricket at this level.

1986 sees another new venture coming into operation, with the formation of an Umpires Panel, whose members will be appointed to take charge of all Division One and League Knockout matches. This innovation is in no way a reflection on those who have umpired over the years, but in fact was put forward by the Shropshire branch of the ACU. It goes without saying that we wish them well.

Congratulations and thanks are in order to the 'Editor in Chief' of this Handbook, Glyn Brace, who has once more undertaken the job in his usual

wish them well.

Congratulations and thanks are in order to the 'Editor in Chief' of this Handbook, Glyn Brace, who has once more undertaken the job in his usual efficient manner.

Finally, I am most grateful to everyone who has aided league cricket during the past campaign, not least the members of the Executive Committee, and I trust that your help and assistance will continue throughout the coming twelve months. With that, may I wish one and all a very happy and enjoyable 1986 season.

CLIVE SMITH

### SHROPSHIRE CRICKET LEAGUE OFFICIALS President: R. E. GROVES, Esq., M.A., Dip.Ed. C. SMITH, Esq. 'Ragleth', 12 Upper Road, Meole Brace, Shrewsbury. Tel.: Shrewsbury 55383 Chairman: M. J. E. TEECE, Esq. Broughshane, Burway Road, Church Stretton. Tel.: Church Stretton 722021 Vice-Chairman: J. W. REES, Esq. 67 King Street, Shrewsbury. Tel.: Shrewsbury 52255 Ext. 229 (Work) Secretary: W. L. BLACKSHAW, Esq. 13 Porthill Drive, Shrewsbury. Tel.: Shrewsbury 62905 Fixture Secretary: B. J. KITSON, Esq. 73-Boscobel Drive, Heath Farm, Treasurer: Shrewsbury. Tel.: Shrewsbury 67836 W. L. BLACKSHAW, Esq., F. N. FOWLER, Esq. J. W. REES, Esq. Life Members:

**Executive Committee Members:** 

Division	One:	(10)

	J. E. DAVENPORT	Tel:: Newport-810859	-Retiring-1987
	R. DAVY	Tel.: Telford 614241	Retiring 1988
	G. D. ELCOCK	Tel.: Upton Magna 306	Retiring 1987
	J. S. JOHNSON	Tel.: Church Stretton 722655	Retiring 1988
	F. W. JONES	Tel.: Telford 460355	Retiring 1987
	W. C. KYNASTON	Tel.: Wem 32598	Retiring 1988
	D. W. ROBERTS	Tel.: Telford 3084	Retiring 1988
	G. A. ROWLEY	Tel.: Shrewsbury 57526	Retiring 1987
	R. T. TUDOR	Tel.: Shrewsbury 246479	Retiring 1987
	J. WILSON	Tel.: High Ercall 770405	Retiring 1988
	Other Divisions: (9)		
_	G. W. BRACE	Tel.: Wem 33197	Retiring 1986
	N. BROADBENT	Tel.: Oswestry 662654	Retiring 1987
	D. F. C. BUNTING	Tel.: Bomere Heath 290404	Retiring 1987
	G. A. DAVIES	Tel.: Telford 47816	Retiring 1987
	J. B. FOULKES	Tel.: Llanymynech 830653	Retiring 1988
	J. W. T. HINTON	Tel.: Shawbury 250315	Retiring 1987
-	E. JONES	Tel.: Shawbury 250274	Retiring 1986
	R. PHILLIPS	Tel.: Clive 258	Retiring 1987
	D. W. RALPHS	Tel.: Wern 32874	Retiring 1987

### SUB-COMMITTEE MEMBERS:

SUB-COMMITTEE MEMBERS:

CONSTITUTION: Messrs. Roberts (Chairman), Broadbent, Bunting, Davies, Foulkes, Hinton, F. Jones, Kynaston, Phillips, Teece & Tudor CRICKET BALLS - Messrs. Roberts, Tudor & Bunting DISPUTES - Messrs. Roberts (Chairman), Bavernport, Phillips & Rees HANDBOOK - Messrs. Brace (Chairman), Broadbent, Kitson, Ralphs & Rees KNOCKOUT COMPETITIONS - Messrs. Smith (Chairman), Brace, Rees & Davy

RULES - Messrs. Ralphs (Chairman), Broadbent, Elcock, E. Jones, Johnson & Tudor SELECTION - Messrs. Davenport (Chairman), Elcock, Smith & Tudor (LOWER DIVS) - Messrs. Kitson (Chairman), Brace, E. Jones & Ralphs SPONSORSHIP - Messrs. Tudor (Chairman), Kitson, Rowley & Wilson

### CONSTITUTION

NAME: This organisation to be known as THE FURROWS SHROPSHIRE CRICKET LEAGUE

OBJECT: To promote the best interests of cricket in Shropshire and to foster and develop amateur talent in the game

### MEMBERSHIP

- (a) The League shall consist of a number of Divisions, the composition of which shall be decided by the Executive Committee, but the size of any division shall not exceed 12
- The team finishing bottom of Division One shall apply in writing for re-election to that Division by 15th October at the latest. The team finishing top of Division Two has an automatic right of application to join Division One. Any other Shropshire League Club applying must have its application in writing to the League Secretary by 15th October at the latest. All applications are to be determined by the Executive Committee.
- The number of Clubs in membership shall only be increased if the Executive Committee so decide after investigating the merits of each application (status, ground, amenities, facilities, playing strength, etc.).
- Clubs desiring admission to the League must apply in writing to the League Secretary not later than the third Saturday in July of
- the year preceding that in which they wish to take part. Clubs wishing to resign from the League shall give notice in writing to the League Secretary before 31st October in the preceding year
- The Executive Committee reserves the right to ask any Club to resign if in its opinion the general conduct or appointments of such Club do not satisfy the requirements of the League. In the event of any complaint against a member Club, that Club shall receive 14 days prior notice of the Committee's intention to hear that complaint and will be invited to send representatives to attend that part of the meeting hearing the complaint. This action shall be in addition to any steps taken under "Rules for the Conduct of Matches".
- Any Club ceasing to be a member of the League shall at once forfeit any rights of participation in the assets of the League.

### FINANCE

- The subscription from each Club shall be £17.50 per team per annum (including a £5 Handbook levy) to be paid not later than 1st May in any year. Clubs not paying their subscriptions by the (a) due date may be charged an extra £1 penalty for every month or
- part of a month they are in arrears.

  If the income from subscriptions is insufficient to meet League requirements, a further levy may be made on each Club.

  The funds of the League shall be dealt with by and through an
- account with a Bank in the name of the League. Cheques may be drawn on two signatures. The Chairman, League Secretary
- and Hon. Treasurer shall be authorised signatories.
  The financial year shall end on 30th September after which the accounts shall be audited by an Hon. Auditor who shall be elected at the Annual General Meeting.

### **OFFICERS**

- (a) Officers of the League shall consist of the President, Chairman, Vice-Chairman, Hon. Treasurer, Hon. Auditor, Hon. Secretary and Hon. Fixture Secretary, all of whom, with the exception of the President, shall be elected at the Annual General Meeting. The President shall be elected by the Executive Committee.
- (b) Hon. Life Members shall be elected by the Executive Committee in recognition of past services to the League and shall be entitled to attend meetings of the Executive Committee.

### EXECUTIVE COMMITTEE

- (a) The League shall be governed by an Executive Committee consisting of the officers named in 3 (a) above, ten representatives of Clubs in the First Division and nine representatives from all other divisions.
- (b) Not more than two representatives from any one Club shall serve on this committee, with the exception of the officers named in 3 (a) above.
- Nine members shall form a quorum.
- (d) At least seven days notice of meetings shall be given.
  (e) The Executive Committee may appoint such sub-committees as they may from time to time consider necessary.
- A Management Committee shall be formally appointed by the Executive Committee with full power to deal with any matters or issues which may arise and which are not covered by or need adjudication under these rules.
- The Chairman or in his absence the Vice-Chairman, or if both are absent a deputy appointed by the Committee shall preside at all Executive Committee Meetings and shall have a casting vote. The decision of the Executive Committee shall be final.
- The Executive Committee shall have power to co-opt.
- Members shall be elected to the Committee for a period of threeyears after which time they will retire and, if willing, offer themselves for re-election.
- Executive Committee Members should register an attendance figure of at least 50%. Apologies will only be accepted if tendered three days before a meeting with illness as the only legitimate reason for non-attendance. Members failing to reach the 50% attendance level are liable to expulsion.

### ANNUAL GENERAL MEETING

- (a) The Annual General Meeting shall be held in November each vear.
- Twenty-eight clear days notice of the Annual General Meeting shall be given to all member clubs.
- Nominations for officers and members of the Executive Committee and any proposal for alteration to the constitution must be received by the League Secretary not later than seven
- clear days before the date of the Annual General Meeting.
  Proposals for alterations to the constitution must receive two
  thirds of votes cast before acceptance and can only be considered at an Annual General Meeting or a Special General Meeting

### **RULES AND PLAYING ARRANGEMENTS**

The Rules and Arrangements set out below will apply to all Divisions of the Shropshire League from 1st April, 1986, and will continue until officially amended on the authority of the Executive Committee of the League.

- QUALIFICATION OF PLAYERS
  (a) No player shall be brought in from an outside League to play in the Shropshire League during the playing season without first obtaining the written consent of the Rules Sub-Committee of the League.
- (b) A list of playing members for the coming season, from whom teams for the season will be selected, must be submitted to the League Secretary no later than the date of commencement of that season. Any new players must also be registered with the League Secretary.

- (c) Any bona fide member of a club may take part in League matches provided that:
  - after transferring from another club in this League he has anter unansterring from another club in this League he has applied for and obtained the sanction of the Rules Sub-Committee to represent his new Club. Such applications must be received four clear days before his first match with his new club and must be accompanied by a letter from the Secretary of his old club confirming that he has fulfilled his obligations to that Club.
  - (ii) if he has played in 12 or more first team matches, he shall not be allowed to play in any of the last three matches in a lower division or in a second team match without the approval of the Rules Sub-Committee.
  - (iii) if he has played in 12 or more first or second team matches, he shall not be allowed to play in any of the last three matches in a lower division without the approval of the Rules Sub-Committee.

### RULES FOR THE CONDUCT OF ALL MATCHES

- RULES FOR THE CONDUCT OF ALL MATCHES

  (a) The twelve clubs in the First Division shall each run a team in the Reserve Division thereof. There shall also be other Divisions. All teams shall play each other on a home and away basis, fixtures being arranged by the League Fixture Secretary between mid-April and mid-September. All fixture's shall take place on a Saturday unless clubs are desirous of re-arranging a fixture after they have been published. In this case BOTH clubs must give written notice to the League Secretary not less than ten days before the date of the proposed alteration and must be granted permission before carrying out any change. Any infringement of this rule will result in the match being declared void.
- Matches shall be played in accordance with the LAWS of CRICKET subject to such specific points as are hereinafter stipulated.
- No underarm bowling will be allowed in the League.

HOURS AND CONDITIONS OF PLAY

(a) All matches shall commence at 2.00 p.m. except in September when all matches shall commence at 1.30 p.m.

when all matches shall commence at 1.30 p.m. Prompt starts are essential and the toss for innings shall take place at least fifteen minutes before the scheduled starting time. In the event of a team not being able to comply, the opposing team may, if it so wishes, exercise the right to claim the toss. The duration of play shall be limited to 100 six-ball overs in April, May, June, July and August with an interval of 20 minutes for tea between innings. In September the duration of play will be 90 six-ball overs with an interval of 20 minutes for tea between innings.

ngs, put:-The side batting first shall receive not more than 50 overs in April, May, June, July and August and not more than 45 overs in September. The other side shall, in addition to its 45 or 50 overs, utilise

the balance, if any, of that same quota not used by the side batting first. In this case, any odd balls bowled shall constitute a complete over.

In conjunction with the scorers, the Umpire shall ensure that the recording of overs and runs is correctly made and

adequately displayed. Before the first ball of the last over of each innings, the Umpires shall call 'last over' clearly so that both sides understand.

Captains may agree to reduce the overs before the toss takes place if in their opinion the weather conditions so indicate. The minimum number of overs to constitute a match to be forty.

LATE START

No match shall start after 5.00 p.m., and if the start is delayed the Captains shall decide on a proportionate number of overs for play in relation to the finishing times stipulated in Rule 6. The minimum number of overs to constitute a match to be forty. INTERRUPTION OF PLAY

6.

In the event of interference by weather, light or unforeseen circumstances amounting to 30 minutes or more after a match has started, play shall cease at 8.00 p.m. during the months of April to August inclusive with a minimum of 20 overs being bowled from 7.00 p.m. or on completion of the number of overs that constitute that particular match. In September, play shall cease at 7.30 p.m. with a minimum of 20 overs being bowled from 6.30 p.m. or on completion of the number of overs that constitute that particular match.

constitute that particular match. If a further interruption of play occurs during the final 20 overs, the number of overs will be reduced by one over for every full three minutes lost. If the reduced number of overs are completed before 8.00 p.m. (7.30 p.m. in September), play will continue until 8.00 p.m. (7.30 p.m. in September). The time lost is to be noted by the umpires and allowed for in the calculation of the over rate.

The time lost is to be noted by the umpires and allowed for in the calculation of the over rate.

If, at the scheduled finishing times in (a) above, the side batting second still occupy the crease, and have received at least as many overs as the side batting first, then the game shall be a draw and the points allocated in accordance with Rule 7. If the side batting second do not receive as many overs as the side batting first then the game shall be abandoned. If a bowler is incapacitated during an over, that over shall be completed by any member of the fielding side other than he who bowled the previous over.

ALLOCATION OF POINTS

ALLOCATION OF POINTS
WIN: 6 points to the winning side.
TIE: 3 points to each side only when scores are equal and the team
batting second are all out or have used their allocation of overs
(Subject to Rule 6 (b) and 6 (c)).
NOT STARTED: 1 point to each side.
ABANDONED: 1 point to each side.
DRAW: 4 points to the side scoring the greater number of runs and 1
point to the other side when the agreed number of overs have been
bowled without a definite result having been achieved. (Subject to
Rule 6 (b) and 6 (c)).
OVER RATE: Overs are required to be bowled at 18 per Hour and
each club's rate will be reviewed halfway through the season and
again at the end of the season.
At each review any club which has not attained an average over rate

At each review any club which has not attained an average over rate

At each review any club winter has not attained an average over face of 18 per Hour will have 6 points deducted from their accumulation of points to date.

The rate for the first innings will be taken from 2.00 p.m. and the second innings from 20 minutes after the completion of the first

innings.

N.B. This Rule applies in Division One and Reserve Division only.

THE BALL

THE BALL Two new balls purchased through the League shall be used in all First Division games. One new ball shall be used in all Division Two and Three games. In Reserve and Other Divisions, a new ball need not be provided for every match but the ball to be used shall be in good condition and of good quality. This shall be submitted to and approved by the Captains before the toss.

QUALIFICATION OF UMPIRES

(a) An umpire may be required to satisfy the Rules Sub-Committee as to his competence either on appointment or at any time

If one side provides an umpire and the other side does not provide one, that one umpire should be the official umpire for the match and should stand at the Bowler's end throughout the

match.
Umpires should be responsible for noting and recording the over rate - viz. overs bowled and time taken - and will be required to note this information on the official League Score Sheet.
The Shropshire Association of Cricket Umpires will be responsible for appointing umpires to all Division One and League Knockout fixtures.
No fee as such is payable to umpires appointed from the panel. Expenses will be met by the Shropshire Association of Cricket Umpires with all Division One Clubs being expected to submit, on request, a one-off payment to the Shropshire A.C.U. to cover such costs. such costs

PREPARATION OF PITCHES

Preparation of pitches must be in accordance with the M.C.C. Laws and Instruction. Pitches should not be watered in the 48

hour period preceding any match.
Pitches may be wholly covered at all times where possible.
Before the toss is made, the home Captain should advise his
opposite number whether covers are available.

PLAYERS CROSSING

The attention of Captains is drawn to Note 2 (b) of Law 31, whereby it is one of their duties to ensure the incoming batsman passes the outgoing one before the latter leaves the field of play.

CANCELLATION OF MATCHES In the event of any ground being unfit for play owing to weather or other circumstances, it shall be the responsibility of the home club to inform the visiting club of this fact.

This should be carried out on the day of match not before 11.00 a.m. and not later than 12.00 noon.

NOTIFICATION OF RESULTS

NOTIFICATION OF RESULTS
It shall be the responsibility of the home club to send full details of
the match played on the Score Sheet issued by the League which is
signed by both Captains. This Score Sheet must reach the League
Secretary by the first post each Thursday after the match has been
played. Failure to comply with this rule will result in two points being
deducted from the offending club.

PROTEST

- PROTEST

  (a) Any protest shall be lodged with the League Secretary in writing within four days following the match.

  (b) A copy of such protest shall be sent to the club against whom the protest is made.

  (c) Each protest is to be accompanied by a fee of £5 which shall be forfeited if the Disputes Sub-Committee deems the protest to be trivial.
- forfeited if the Disputes Sub-Committee deems the protest to be trivial.

  (d) The club sustaining the protest or objection shall have the points added to its total points gained, but such points not to exceed the maximum for a win. The club against whom the protest has been made to lose any points gained and to be fined the number of points equivalent to a win.

  (e) Clubs when making a protest shall state under which rule the protest is made.

DISPUTES

Any dispute having reference to the Laws of Cricket, shall be referred to the Cricket Council for settlement and their decision shall be final, but in all other matters the decision of the League shall be final.

Inai.

LEAGUE POSITIONAL PLACINGS
In the event of two or more teams finishing on the same number of points at the end of a season, the following factors shall be used to determine final placings: firstly - most wins; if still equal - least defeats; if still equal - most away wins. In the event of these four instances not separating the teams, the points tally of League matches played that season between the teams involved shall determine the final League placings.

### 900 DIVISION ONE FIXTURES

Home Games Bracketed

	07		60250	_	)	_	_						_		
5	50		Ε	(10)	6)	(8)	6	5	S	4	9	2	£	(9)	
	13		(12)	Ξ	10	0	80	6	9	(5)	4	(6)	(2)	-	
	9	SEP.	N	Ê	(11)	(10)	6)	(8)	(12)	9	S	4	ო	_	
	30		(3)	(12)	<b>3</b>	F	10	O	8	5	(9)	(2)	(4)	2	
these	23		4	ო	(2)	Ê	(11)	(10)	6)	12	7	9	S	(8)	
e of	91		(2)	4	72	(5)	٠	F	10	6	(8)	0	(9)	(9)	-
evers	6		(9)	(2)	(4)	m	7	-	(FE	(01)	(12)	œ	7	თ	
the	5	AUG.	(	9	Ŋ	12	(3)	(2)	-	1	10	(6)	(8)	(4)	
are	56		œ	E	(9)	(2)	4	ო	N	E	(11	(21	თ	9	
	61		6)	œ	7	9	12	4	(3)	(2)	-	=	10)	(2)	
E	15		9	6)	(8)	8	(9)	ທ	4	ო	2	Ê	12) (	Ξ	
Ē	9	ገበ디	Ê	10	თ	ω	7	12)	(2)	4	(3)	(2)	-	ဖ	
RESERVE DIVISION FIXTURES are the reverse of these	28		12	11)	10)	(6)	(8)	7	(9)	2	4	က	2	Ê	
2	12		(2)	-	11	10	თ	00	12	(9)	(2)	(4)	(3)	8	
ā	ÞL	٠	თ	12	E	11)	10)	(6)	(8)	7	9	2	4	(2)	
M	L	JUNE	4	(3)	2	-	11	10	တ	12)	6	(9)	(5)	œ	
S	16		ည	(4)	12)	2	E	11)	10)	(6)	ω	7	ထ	ო	
Œ	54		ဖ	S	4	(3)	(2)	E	11	0	12	(8)	6	(6)	
	11		7	(9)	(2)	12)	ო	2	E	£	(01	6	8	4	
	10		(8)	7	9	5	(4)	(3)	(2)	-		12	(6)	(01.	
	3	YAM	თ	(8)	3	(9)	(12)	4	60	2	£	11	10	5	
	56	ЛІЯЧА	(01.	6	8	7	6 (1	(2)	(4)	(3)	(2)	-	12	£.	
			C					_	_	Ť	_			Ξ	
			1. WHITCHURCH	2. SHIFNAL	3. WROXETER	4. ST. GEORGE'S	5. SHREWSBURY	6. BRIDGNORTH	7. OSWESTRY	8. PERKINS	9. NEWPORT	10. WEM	11. LUDLOW	12. WELLINGTON	

## DIVISION TWO FIXTURES 1986

## Home Games Bracketed

	50		F	(10)	(6)	(8)	5	12	ເດ	4	ო	7	E	(9)	
	13		(12)	Ε	9	თ	ω	6	ဖ	(5)	4	(3)	(2)	-	
	9	SEP.	N	E	(11)	(10)	6)	8	(12)	9	ιΩ	4	ო	7	
	30		(3)	(12)	-	Ε	10	თ	œ	6	(9)	(2)	3	Ø	
5	53		4	ო	(2)	E	11	10)	(6)	12	7	9	ς	(8)	
200	91		(2)	4	12	(2)	-	=	10	6	(8)	8	(9)	(3)	
	6		(9)	(2)	(4)	ო	N	-	Œ	(01)	(12)	ω	7	0	
	2	Aug.	3			2			5.55	F	-	(6)	(8)	4	
•	56		œ	0	(9)	(2)	4	ო	N	Ē	(11)	(12)	თ	10	
	61		(6)	ω								1		(2)	
	15		10	(6)	(8)	E	(9)	ເວ	4	ო	N	E	(12)	Ξ	
	g	ገበΓአ	(11)	10	6	ω	7	(12)	(2)	(4)	(3)	(2)	-	9	
	28		12			6)						ო			
	51		(2)	-	Ε	10	σ	œ	42	(9)	(5)	4	(3)	(4	
	Þl	,	ო	12	(E)	11	(01	(6)	(8)	7	ø	S	4	(5)	
	L	JUNE	4	(3)	2	-	11	10	თ	(12)	3	(9)	(2)	œ	
	31		လ	4	(12)	2	£	(1	10)	6)	œ	7	ဖ	ო	
	24		ω	S	4	(3)	(5)	Ê	-	10	12	(8)	8	6)	
	11		7	(9)	(2)	(12)	ო	2	£	(11)	(10)	0	œ	4	
	10			7									6)	(10)	
	8	YAM	თ	(8)	9	(9)	(12)	4	ო	N	£	(11)	10	S	
	56	JIR9A ,	(10)	თ										(11)	
			ELLESMERE	Z.X.	OVERTON	FENNS BANK	M.E.B.	FRANKTON	FORTON	SHAWBURY	COTON HALL	BOMERE HEATH	CRAVEN ARMS	BROMFIELD	

# DIVISION THREE FIXTURES 1986

## Home Games Bracketed

50		Ξ	(10)	(6)	(8)	3	12	2	4	ო	8	Ē	(9)	
13		(12)	=	10	თ	Ø	9	9	(5)	(4)	(3)	(2)	-	
9	SEP.	2	E	(11)	(10)	6)	(8)	(12)	9	Ŋ	4	ო	7	
30		(3)	(12)	-	Ε	10	o	00	6	(9)	(2)	(4)	2	
23		4	ო	(2)	E	(11)	(10)	6)	7	7	9	Ŋ	(8)	
91		(2)	4	72	(2)	-	=	9	6	(8)	3	(9)	(3)	
6		(9)	(2)	4	ო	N	-	(11)	(10)	(12)	80	7	0	•
2	AUG.	6	9	2	7	(3)	(2)	-	F	10	6)	(8)	(4)	
56		00	(	(9)	(2)	4	က	2	E	(11)	(12)	0	10	
61		6)	ω	^	9	12	4	(3)	(2)	-	F	(10)	(5)	
15		10	6)	(8)	6	(9)	2	4	က	0	Ê	(12)	F	
9	ገበΓአ	E	10	6	ω	7	(12)	(2)	4	(3)	(5)	-	ဖ	
82		4	(11)	(10)	6)	(8)	۲	(9)	w	4	ო	8	£	
51		(2)	-	=	10	o	89	12	(9)	(2)	4	(3)	6	
14		ო	12	Ê	(11)	(10)	6)	(8)	7	φ	ß	4	(2)	
L	JUNE	4	(9)	0	-	1	10	0	(12)	9	(9)	(2)	ω	
31		ī	4	(12)	2	Ê	(11)	(10)	6	8	^	9	ო	
54		9	Ω	4	(3)	(2)	Ē	Ε	10	12	(8)	6	6)	
11		7.	(9)	(2)	(12)	ო	N	£	(11)	(10)	တ	89	4	
10		(8)	7	9	c)	(4)	(3)	(5)	-	-	7	6)	(10)	
3	YAM	თ	(8)	6	(9)	(12)	4	ო	N	E	(11)	10	2	
56	APRIL	(10)	တ	ω ;	7	9	(2)	4	(3)	(2)	-	7	(11)	
		1. EDGMOND	2. PREES	3. CATHEDRAL	4, CAE GLAS	5, B.S.F.	6. ALBRIGHTON	7. HARCOURT	8. QUATT	9. PONTESBURY	10. DAWLEY PH.	11. MUCH WENLOCK	12. CALVERHALL	

16

# DIVISION FOUR FIXTURES 1986

## Home Games Bracketed

50		(11)	10	0	ω	7	(12)	(2)	4	(3)	(2)	-	9
13		7	(11)		6)		-			4	ო	N	E
9	SEP.	(2)	-	-	10	0	œ	12	. (9)	(9)	(4)	(3)	6
30	5	ო	12	Ê	(11)	(01	6)	(8)	, ~	ဖ	ιΩ	4	(2)
23		9	(3)	N	-	-	10	თ	(12)	6	(9)	(2)	œ
91		ro	(4)	(12)	7	Ê	(11)	(01)	_	ω	7	9	ო
6	90.00	ω	w	(4)	ო	(2)	Ê	F	10	12	(8)	3	6
2	AUG.	7	(9)	(2)	(12)	က	8	(E)	(F)	(10)	თ	ω	4
56		(8)	7	9	ß	4	3	(2)	-	F	12	(6)	(10)
61		0	(8)	6	(9)	(12)	.4	ო	N	E	(11)	10	S
15	39	(10)	o	80	7	9	(2)	(4)	<u>(e)</u>	(2)	-	12	(H
9	ገበΓአ	F	(10)	6)	(8)	3	12	ß	4	ო	N	E	9
28		(12)	Ε	10	თ	ø	6	9	(2)	4	(3)	(2)	-
12		0	Ē	(11)	(10)	6)	(8)	(12)	9	S	4	ო	7
14		(3)	(12)	-	F	10	თ	œ	3	(9)	(2)	4	0
L	JUNE	4	ო	(2)	(£)	(11)	(10)	6)	12	7	9	2	(8)
16		(2)	4	12	(2)	-	1	10	O	(8)	9	(9)	(3)
54		(9)	(2)	4	(3)	Ø	•	(11)	(10)	(12)	ω	7	6
11		6	9	ß	12	(3)	(2)	-	Ξ	01	6)	(8)	4
10		Φ	6	(9)	(2)	4	က	7	Ē	(11)	(12)	6	10
3	YAM	6)	ω	^	9	12	4	(3)	(2)	г	Ε	(10)	(2)
56	, JIRAA	10	6)	(8)	6	(9)	2	4	က	0	£	(12)	F
		1. WELLINGTON 'A'	2. G.K.N. 'A'	3. ALBERBURY	4. HODNET	5. ACTON REYNALD	6. ALBRIGHTON 'A'	7. N.A.L.G.O.	8. GLYNWED	9. ST. GEORGES 'A'	10. LUDLOW 'A'	11. TIBBERTON	12. NEWPORT 'A'

# DIVISION FIVE FIXTURES 1986

### Home Games Bracketed

30	SEP.	(4)	(3)	2 (1)	1 (11)	11 (10)	9	(8)	(12) 7	(7)	(9)	(5) 4	8 (2)
91				4 (12)									
2	AUG.	7											
56				9	1000				355 Y	927			
46		თ	(8)	(2)	(9)	(12)	4	თ	N	$\widehat{\Xi}$	(11)	9	Ŋ
15				φ									
g	ገበΓአ		-										
28				10									
12		2		(11)				10000					
ÞL		(3)	(12)	-	F	10	6	ω	3	(9)	(2)	4	N
L	JUNE	4	ო	(2)	E	(11)	(10)	6)	12	7	9	Ŋ	(8)
31		(2)	4	12	(2)	-	F	10	თ	(8)	0	(9)	(9)
54		(9)	(5)	4	ო	Ø	-	(11)	(10)	(12)	00	7	တ
11		E	9	ιΩ	N	(3)	(2)	۳	Ξ	10	6)	(8)	(4)
10		60	6	(9)	(2)	4	ო	2	Ê	(11)	(12)	თ	9
ε	YAM	6)	ω	7	ဖ	12	(4)	(3)	(5)	-	7	(10)	(2)
56	APRIL	1	6)	(8)	6	(9)	ß	4	ო	8	E	(12)	F
		ALBERBURY 'A'	DSWESTRY 'A'	OVERTON 'A'	CAE GLAS 'A'	HANWOOD	FRANKTON 'A'	FORTON 'A'	BRIDGNORTH 'A'	CHURCH ASTON	BOMERE H'TH 'A'	M. WENLOCK 'A'	MADELEY P.C.

### 1965 HONOURS

DIVISION ONE		s (Chronicle Cup) p (Link 51 Shield)		
RESERVE DIVISION		s (Sentinel Cup) p (Link 51 Shield)	Wroxeter Whitchurch	
DIVISION TWO		s (Silhouette Cup) p (Link 51 Shield)		
DIVISION THREE		s (Murphy Cup) p (Link 51 Shield)	Ellesmere Fenns Bank	
DIVISION FOUR	Champion Runners u	is (League Trophy) ip (League Shield)	Calverhall Dawley Phoenix	
DIVISION FIVE		is (League Trophy) ip (League Shield)		
LEAGUE KNOCKOUT	Winners (Shropshin Runners u Man of the	Marian Company	Wroxeter Newport G. Nome (Wroxeter)	
VILLAGE KNOCKOUT	Winners (\) Runners u Man of the	V - 1	Bomere Heath G.K.N. D. Perry (Bomere Heath)	
YOUNG PLAYER OF THE YEAR	(League A	ward)	M. Moreton (Ludlew)	
MOST RUNS DURING SEASON	(Shropshi	re Star Trophy)	J. Foster (Shrewsbury)	
MOST WICKETS DURING SEASON	(Impact S	hield)	S. Raine (Calverhall)	
SHROPSHIRE S BAT OF TH MONTH		May June July August	M. Chaudry (Shifnal) S. Raine (Calverhall) J. Larking (Much Wenlock) S. Hughes (Bomere Heath) R. Hern (Ludlow A) T. Glare (G.K.N.)	
YOUNG PLAY OF THE YEA (P. Wilkinso Awards)	AR	Div. Two Div. Three Div. Four	M. Moreton (Ludlow) D. Newbrook (G.K.N.) J. Whittingham (Cae Glas) S. Raine (Calverhall) P. Durrant (Newport A)	*

20

### PREVIOUS WINNERS

	Winners	Runners up	Winners	Runners up
DIV	ISION ONE		RESERVE	DIVISION
1970	Rolls Royce	Newport	Newport	Rolls Royce
1971	Newport/Wem	(TIE)	Newport	Wem
1972	Oswestry/Shifn	5: 8:	Wellington	Newport
1973	Wroxeter	St. Georges	Newport	Wroxeter
1974	Wroxeter	Newport	Bridgnorth	Newport
1975	Shrewsbury	Wroxeter	Wellington	Shrewsbury
1976	Shrewsbury	Bridgnorth	Newport	Shrewsbury
1977	Newport	Shrewsbury	Shrewsbury	Wroxeter
1978	Shrewsbury	St. Georges	Bridgnorth	Wroxeter
1979	Wroxeter	Shrewsbury	Shrewsbury	Whitchurch
1980	Shrewsbury	Wroxeter	Whitchurch	Wellington
1981	Whitchurch	Newport	Bridgnorth	Whitchurch
1982	Shrewsbury	Wem	Newport	Bridgnorth
1983	Shrewsbury	Whitchurch	Shrewsbury	St. Georges
1984	Shrewsbury	Shifnal	Wem	Newport
1985	Shrewsbury	Shifnal	Wroxeter	Whitchurch
DIV	ISION TWO		DIVISION 1	TMREE
1970	Coton Hall	M.E.B.		×
1971	Fenns Bank	Coton Hall		
1972	Shawbury	Coton Hall		
1973	Coton Hall	Shawbury		
1974	Coton Hall	Prees		9
1975	Coton Hall	Bromfield		
1976	Fenns Bank	Bromfield	Overton	Cae Glas
1977	Fenns Bank	Coton Hall	B.S.F.	Prees
1978	Fenns Bank	Ellesmere	Frankton	Albrighton
1979	Albrighton	Cae Glas	Calverhall	Much Wenlock
1980	M.E.B.	Coton Hall	Bornere Heath	Overton
1981	Bomere Heath	/M.E.B. (TIE)	Craven Arms	Shawbury
1982	Craven Arms	Shawbury	Quatt	Forton
1983	Quatt	Craven Arms	Edgmond	Frankton
1984	Shawbury	Forton	Bomere Heath	G.K.N.
1985	Forton	Frankton	Ellesmere	Fenns Bank
DIV.	ISION FOUR	R	DIVISION	FIVE
1981	Forton	Quatt		
1982		Edgmond		
1983		Acton Reynald		
1984		Cathedral	Tibberton	Frankton A
1985		Dawley Phoenix	Newport A	Tibberton
1150,500	p Ac-William (0) (0) (0) (0) (0) (0) (0) (0) (0) (0)		Accord BA	

					FIR	IAL L	EAGUE	Doll .	TABLES 198	5					
			DIVIS	ION ONE					ě.		RESERVE D	IVISION			
5000	m12Bm								in some El		1				
110	cookern him.	P	W	D	L	Points			Redocts.	Р	W	D	L	Points	
Carl o	Shrewsbury	22	14	7	1	97			Wroxeter	22	. 13	7	2	100	
	Shifnal	22	14	4	4	94			Whitchurch	22	13	7	2	97	
1	Ludlow	22	10	9	3	84			Wem	22	14	2	6	89	
N A	Whitchurch	22	9	6	7	72			Newport	22	13	2	7	80	
1	Wroxeter	22	7	7	8	64			Shrewsbury	22	11	8	3	80	
1	Newport	22	7	6	9	60			St. George's	22	6	10	6	60	
1	Bridgnorth	22	7	8	7	59	4	Š.	Shifnal	22	8	8	6	59	
1	Wem	22	6	7	9	55		ı	Ludlow	22	7	4	11	51	
	Oswestry	22	6	7	9	46	49	y	Wellington	22	5	2	15	38	
	St. George's	22	5	9	8	39		M	Bridgnorth	22	3	10	9	34	
	Wellington	22	2	8	12	32		H	Oswestry	22	4	4	14	31	
	Perkins .	22	2	8	12	23	ý	7	Perkins	22	2	2	18	14	
			DIVIS	ION TWO							DIVISION	THREE			
Aus	<u>.</u> .				990	D-!			Mut but	( P	144	5	65	Points	
12 H	Forton	Р	W	D	L	Points			Ellesmere	Р	W	D 4	L 4	97	
		22	15	4	3	102	•			22	14	4	5	85	
15	Frankton	22	15	4	3	100			Fenns Bank	22	13		7	81	
14	Bomere Heath	22	14	4	4	97			Albrighton	22	12	3 9	3	78	
9.8	Coton Hall	22	. 9	7	6	67			Pontesbury	22	10	6	6	75	
1.6	G.K.N.	22	. 8	6	8	63			Much Wenlock	22	10		7	68 .	
13	Overton	22	7	7	8	61			Prees	22	7 8	8 7	7	64	
1	M.E.B.	22	7	11	4	59			Cae Glas		\$578	9	8	48	
P# C	Bromfield	22	6	8	8	53			Cathedral	22	5 4	9	9	48	
1.5	Craven Arms	22	5	8	9	50			Harcourt	22	5	6	11	45	
18	Shawbury	22	6	3	13	42			B.S.F.	22	3	10		40	
- 1	Quatt ,	22	3	6	13	29			Alberbury	22	1	5	16	11	
	Edgmond	22	_ 2	2	18	17			Wellington A	22		5	10		
			DIVISI	ON FOUR				9			DIVISION	FIVE .			
Whit	llil A							I	Henry .	77000	10000	(2001)	100		
2	and the	P	W	D	Ĺ	Points		B		P	W	D	L	Points	
ME (5)	Calverhall	22	. 19	. 3		120	" 7	M	Newport A	22	16	. 4	2	108	
13	Dawley Phoenix	22	15	2	5	98	1	ij	Tibberton	22	13	5	4	97	
	Acton Reynald	22	12	3	7	81	: <sub>4</sub>	6	Overton A	22	14	2	6	92	
	Hodnet	22	13	1	8	79			Cae Glas A	22	13	1	8	82	
<b>†</b>	G.K.N. A	22	7	. ₹ - 11	4	77			· x Hanwood	22	12	4	6	70	
	St. George's A	22	10	. 5	7	68		1	Bomere Heath A	22	9	2	11	59	
	N.A.L.G.O.	22	9	4	9	64			Forton A	22	9	5	8	59	
	Glynwed	22	10	3	9	63			Frankton A	22	9	-	13	54	
	Ludlow A	22	9	4	9	61			Church Aston	22	8	3	11	54	
	Albrighton A	22	3	3	16	21	8		Bridgnorth A	22	8	2	12	50	
	Much Wenlock A	22	1	5	16	14	2		Alberbury A	22	4	3	15	27	
1	Oswestry A	22	2	2	20	12			Madeley P.C.	22	7	1 .	201	7	
							20		x 12 points ded	ucted	- playing ineligi	ble player			

### HIGHS (AND LOWS) OF 1985

Highest Tota	al by Te	eam:	
Division One	247-8	Whitchurch v. Wroxeter	6 July
Reserve Division	252-5	Shrewsbury v. Shifnal	20 July
Division Two	248-7	Overton v. Bromfield	11 May
Division Three	245-5	Much Wenlock v. Alberbury	6 July
Division Four	263-6	Calverhall v. Glynwed	10 August
Division Five	244	Tibberton v. Alberbury A	20 July
Lowest Total by	Team:		
Division One	36	Wellington v. Bridgnorth	7 Sept.
Reserve Division	24	Perkins v. Wem	4 May
ricaci vo Dividion	24	Perkins v. Wroxeter	10 August
Division Two	26	Edgmond v. Forton	29 June
Division Three	30	Wellington A v. Ellesmere	14 Sept.
Division Four	13	Oswestry A v. Calverhall	27 April
Division Five	28	Bridgnorth A v. Newport A	13 July

### BATSMEN SCORING CENTURIES 1965

D	٧	Si	on	01	e	(9)	

135	B. Jones	Wroxeter v. Whitchurch	6 July
129	J. Foster	Shrewsbury v. Newport	1 June
116	K. Humphrevs	Shifnal v. Perkins	1 June
106*	M. Williams	Wroxeter v. Shrewsbury	13 July
105	A. Watson-Jones	Newport v. Whitchurch	3 August
103 *		Shrewsbury v. Ludlow	11 May
102*	S. Johnson	Ludlow v. Newport	6 July
101	J. Foster	Shrewsbury v. Bridgnorth	31 August
100 *	D. Nock	St. Georges v. Shrewsbury	6 July
Reserv	re Division (4)		
132 *	R. Furniss	Ludlow v. Bridgnorth	25 May
106*	J. Broom	Wellington v. Newport	31 August
104*		Shifnal v. Oswestry	21 Sept.
102	G. Dean	Wellington v. Shifnal	27 July
Divisio	n Two (5)		
116	B. Jones	Quatt v. Edgmond	11 May
113*	J. Footner	Edgmond v. Shawbury	3 August
113	M. Lawrenson	Overton v. Bromfield	11 May
109*		Frankton v. Bomere Heath	6 July
100	S. Hughes	Bomere Heath v. Edgmond	13 July
Nivicia	n Three (3)	0.2%	

### Division Three (3)

145	J. Larking	Much Wenlock v. Alberbury	6 July
	I. Crawshaw	Alberbury v. Pontesbury	1 June
100	M. Whitney	B.S.F. v. Cae Glas	11 May
100	m. willing	B.G.T. V. Oue Glas	11000000

### Division Four (1) 107\* D. Windsor

Divisi	on Five (1)	
105 *		Tibbe

### Dawley Phoenix v. Oswestry A 14 Sept.

### 29 June erton v. Forton A

### BOWLERS TAKING 7 WICKETS 1985

BOWLERS T	aking 7 wickets 1985	
Division One (9)		
LAND SEED LEADING SEED SEED SEED SEED SEED SEED SEED SEE	110 A T	12-2-37
8-40 J. Roberts	Whitchurch v. Shrewsbury	25 May
7-18 M. Jones	Whitchurch v. Oswestry	11 May
7-29 P. Dawson	Ludlow v. Shifnal	29 June
7-39 J. Ball	St. Georges v. Wellington	27 April
7-39 J. Ball	St. Georges v. Oswestry	7 September
7-48 J. Smith	Wellington v. St. Georges	27 April
7-51 D. Breakwell	Bridgnorth v. Shrewsbury	15 June
7-52 W. Bott	St. Georges v. Shrewsbury	6 July
7-52 G. Davies	Perkins v. Newport	27 July
Reserve Division (15)		17.56
9-49 R. Jones 9-66 A. Kynaston	Wroxeter v. Shrewsbury	13 July
9-66 A. Kynaston	Wem v. Shrewsbury	7 Sept.
8-27 B. Higgins	St. Georges v. Wellington	27 April
8-28 R. Aston	Newport v Oswestry	4 May
8-28 R. Aston 8-39 S. Burgoyne	Newport v. Oswestry Ludlow v. Bridgnorth Shifnal v. Wem	25 May
	Shifnal v. Wem	10 August
8-53 R. Shelley 8-70 I. Preston 7-24 S. Smith 7-30 K. Mears	Wellington v. Wroxeter	20 July
7-24 S. Smith	Whitehurch v Newport	3 August
7-30 K. Mears	Wroxeter v. Shifnal Newport v. Whitchurch Wern v. St. Georges	15 June
7-30 T. Blakeley 7-40 A. Kynaston 7-45 D. Dixon	Newport v. Whitchurch	3 August
7-40 A. Kynaston	Warn v St Georges	3 August 27 July
7-45 <b>D. Dixon</b>	St. Georges v. Wroxeter	17 August
7-53 <b>G. Sims</b>	Perkins v. Oswestry	15 June
7-53 <b>G. Sims</b> 7-55 K. Newbrook	St Coorges y Children	15 June
7-70 N. Ruscoe	St. Georges v. Shifnal	8 June
7-70 N. Huseue	Whitchurch v. Shifnal	13 July
Division Two (9) 9-39 D. Bunting	American American and American	CONTRACTOR OF THE PROPERTY OF
9-39 D. Bunung	Bomere Heath v. Shawbury	24 August
8-42 A. Perry	Bomere Heath v. Frankton	21 Sept.
7-16 D. Bunting	Bomere Heath v. G.K.N.	11 May
7-22 L. Fotheringham	Quatt v. Coton Hall	29 June
7-30 B. Edwards	Frankton v. Overton	25 May
7-31 D. Hayward	G.K.N. v. Shawbury	17 August
7-33 L. Jories 7-55 R. Tolley	Craven Arms v. Coton Hall	11 May
7-55 R. Tolley	Bromfield v. Bomere Heath	3 August
7-73 W. Jordan	M.E.B. v. Craven Arms	21 Sept.
Division Three (16)		
8-33 R. Smith	Harcourt v. Prees	24 August
8-42 A. Mosley	Harcourt v. Alberbury	3 August
8-53 R. Batkin	Prees v. Ellesmere	10 August
7-14 A. Pooler	Albrighton v. Ellesmere	17 August
7-19 I. Crawshaw	Alberbury v. Cathedral	25 May
7-24 D. Williams	Pontesbury v. Harcourt	20 July
7-26 J. Fisher	Pontesbury v. Cae Glas	29 June
7-26 M. Jarvis	Albrighton v. Much Wenlock	3 August
7-26 M. Jarvis	Albrighton v. Cathedral	7 Sept.
7-34 D. Thomas	Cathedral v. Prees	31 August
7-38 A. Morris	Much Wenlock v. B.S.F.	17 August
7-42 R. Wolf	Cathedral v. Cae Glas	8 June
7-52 A. Morris	Much Wenlock v. Alberbury	21 Sept.
7-53 A. Mosley	Harcourt v. Pontesbury	20 July
7-55 D. Thomas	Cathedral v. Ellesmere	13 July
7-55 <b>J. Shears</b>	Prees v. Albrighton	20 July
	, rees v. Albrighton	20 July
Division Four (20)	Calvestrall or NIA L C C	40.14-
10-16 <b>S. Raine</b> 9-35 <b>R. Hern</b>	Calverhall v. N.A.L.G.O.	18 May
9-35 M. Mern	Ludlow A v. St. Georges A	3 August 27 April
8-9 S. Raine 8-26 K. Myatt	Calverhall v. Oswestry A	27 April
8-26 K. Myatt	G.K.N. A v. N.A.L.G.Ó.	29 June
8-28 S. Haine 8-36 S. Raine 8-36 M. Yeomans Bivision Five (20) 9-18 G. Baldwin	Calverhall v. G.K.N. A	8 June
8-36 S. Haine	Calverhall v. St. Georges A	1 June
8-60 W. Yeomans	Calverhall v. Glynwed	10 August
DIVISION FIVE [20]	2000 NO D 20 NO 1000	
9-18 G. Baldwin	Bridgnorth A v. Madeley PC	11 May
9-30 F. Savage	Alberbury A v. Hanwood	18 June
9-30 F. Savage 8-10 T. Booth	Church Áston v. Bridgnorth A Church Aston v. Madeley PC	18 June 14 Sept.
8-12 I. BODID	Church Aston v. Madeley PC	13 July 27 April
8-17 M. Maddox	Bomere Heath A v. Tibberton	27 April
8-19 F. Savage	Alberbury A v. Newport A	1 June
8-23 J. Martin	Frankton A v. Church Aston	20 July
8-31 N. Lloyd	Bridgnorth A v. Tibberton	10 August
8-33 R. Bennett	Frankton A v. Forton A	22 June
	222	
	25	

24

### DIVISION ONE AVERAGES 1985

### **BATTING** (qualification 10 innings, average over 27)

Name	Club	Innings	Not Out	Highest Score	Runs	Average
J. FOSTER	Shrewsbury	21	3	129	887	49.28
M. EVANS	Shifnal	22	4	88	739	41.06
K. HUMPHREYS	Shifnal	22	2	116	798	39.90
M. WILLIAMS	Wroxeter	10	1	106 *	350	38.89
A. HERN	Ludlow	18	2	93	578	36.13
S. JOHNSON	Ludlow	22	4	102 *	646	35.89
M. CHAUDRY	Shifnal	20	4	95 *	571	35.69
D. NOCK	St. Georges	16	1	100 *	492	32.80
G. LITCHFIELD	Oswestry	12	0	71	360	30.00
P. JAMES	Shifnal	18	6	54	356	29.67
A. WATSON-JONE	S Newport	13	1	105	354	29.50
M. MORETON	Ludlow	19	2	78	498	29.29
D. WILLIAMSON	Shrewsbury	19	2	82 *	489	28.76
S. GALE	Shrewsbury	20	3	75 *	486	28.59
W. MOORE	Ludlow	19	4	77 *	414	27.60
M. PERKS	Wellington	19	2	67 *	465	27.35
G. MARK	Bridgnorth	19	1	89	492	27.33

<b>BOWLING</b> (qualification 20 wickets, average under 18)						
Name	Club	Overs	Maidens	Runs W	ickets	Average
P. DAWSON	Ludlow	248.3	56	650	63	10.32
B. PERRY	Wem	363	121	738	56	13.18
J. ROBERTS	Whitchurch	326.1	79	745	55	13.55
J. POLLARD	Shrewsbury	225.2	44	667	49	13.61
M. JONES	Whitchurch	237.4	45	739	53	13.94
J. SMITH	Wellington	268.3	72	646	45	14.36
T. DAVIES	Newport	103	30	312	20	15.60
R. SETHI	Oswestry	129.4	35	360	23	15.65
P. LLOYD	Shifnal	394	79	1076	68	15.82
J. PHILLIPS	Oswestry	184	45	492	30	16.40
M. JONES	<ul> <li>Ludlow</li> </ul>	278.2	52	817	49	16.67
A. DONALD	Newport	203.2	36	622	37	16.81
S. GRIFFITHS	Wem	157	32	423	25	16.92
W. BOTT	St. Georges	172	28	548	32	17.12
T. SHEPHERD	Newport	158	30	484	28	17.29
R. TUDOR	Shrewsbury	234.5	50	651	37	17.59
N. PARRETT	Bridgnorth	318.4	72	769	43	17.88

### RESERVE DIVISION AVERAGES 1985

### BATTING (qualification 10 innings, average over 27)

Name	Club	Innings	Not Out	Highest Score	Runs	Average
T. TWIGG	Bridgnorth	10	2	72	325	40.63
J. BROOM	Wellington	10	1	106 *	309	34.33
K. FOWLER	Wellington	12	2	66	342	34.20
R. FURNISS	Ludlow	10	1	132 *	303	33.67
I. DORAN	Shrewsbury	17	1	96	536	33.50
D. REYNOLDS	Shrewsbury	15	3	80	401	33.42
T. ASHLEY	Whitchurch	20	3	62 *	518	30.47
P. WOJDA	Whitchurch	18	0	86	532	29.56
B. BACON	Bridgnorth	15	2	76 *	382	29.38
R. A. JONES	Shrewsbury	10	2	53	235	29,38
R. TEMPERTON	Newport	15	4	78 *	323	29.36
I. PRESTON	Wellington	11	1	86	291	29.10
C. DEAN	Wellington	19	2	102	482	28.35
R. PARNHAM	Bridgnorth	11	1	58 *	283	28.30
R. WARD	Wroxeter	19	2	62	468	27.53
W. DAVIES	Shrewsbury	14	2	74 *	327	27.25
D. ELCOCK	Wroxeter	21	2	70	515	27.11

### **BOWLING** (qualification 20 wickets, average under 16) Name Club Overs Maidens Runs Wickets Average

Hame	Ciub	Overs	Maidells	nuns	Wickers	Average
K. WORMSTONE	St. Georges	56.2	7	164	20	8.20
ROB JONES	Wroxeter	191.1	57	417	47	8.87
REG JONES	Wem	126.5	35	286	26	11.00
S. SMITH	Whitchurch	210.2	31	637	52	12.25
B. HIGGINS	St. Georges	120.4	34	317	25	12.68
R. ASTON	Newport	252.3	81	625	49	12.76
K. MEARS	Wroxeter	119	33	295	23	12.83
R. SHELLEY	Shifnal	105.1	17	322	25	12.88
A. KYNASTON	Wem	209.2	42	599	46	13.02
R. OAKLEY	Whitchurch	252.2	67	651	50	13.02
M. KAISER	Shifnal	125	27	430	33	13.03
B. FISH	Wroxeter	223.5	62	606	43	14.09
A. BROWN	Wem	240.1	65	604	42	14.38
R. PERRY	Bridgnorth	181.2	32	505	33	15.30
M. BARTLEY	Shrewsbury	208.1	34	588	38	15.47
R. APPERLEY	Wem	165.2	36	498	32	15.56
W. BROMLEY	Shrewsbury	245.4	56	628	40	15.70

### **DIVISION TWO AVERAGES 1985**

**BATTING** (qualification 10 innings, average over 27)

Name	Club	Innings	Not Out	Highest Score	Runs	Average
J. JAMES	Frankton	13	7	109 *	349	58.17
S. HUGHES	Bomere Heath	21	5	100	699	43.69
I. DAVIES	Craven Arms	20	2	88	750	41.67
K. PADDINGTON	Shawbury	16	3	91 *	501	38.54
M. LAWRENSON	Overton	17	0	113	605	35.59
J. RICHARDSON	Frankton	17	1	96	558	34.88
B. JONES	Quatt ,	14	0	116	466	33.29
G. RICHARDS	Bromfield	14	1	76 <b>*</b>	432	33.23
DAVE JONES	Forton	19	6	74	424	32.62
E. JONES	Frankton	21	7	76 *	444	31.71
T. WICKHAM	Bromfield	14	3	61 *	337	30.64
P. VERNALS	Shawbury	13	. 0	75	394	30.31
J. ANDREWS	Forton	20	7	50	392	30.15
L. JONES	Craven Arms	20	2	70 *	529	29.39
R. EVANS	Bromfield	21	2	61	558	29.37
A. AUSTIN	Coton Hall	. 21	1	93	578	28.90
G. EDGERTON	Coton Hall	17	5	61 *	331	27.58

### **BOWLING** (qualification 20 wickets, average under 15)

Name	Club	Overs	Maidens	Runs	Wickets	Average
S. TOMKINSON	Forton	114.1	12	348	36	9.67
S. DUNN	Shawbury.	130	23	353	35	10.09
A. PERRY	Bomere Heath	218	61	483	47	10.28
K. MYATT	G.K.N.	98.5	27	268	26	10.31
S. HUGHES	Bomere Heath	149	39	372	36	10.33
D. BUNTING	Bomere Heath	267	83	605	56	10.80
DAVE JONES	Forton	308.1	90	727	65	11.18
D. PERRY	Bomere Heath	132	29	315	26	12.12
W. DAVIES	Frankton	197	44	534	44 .	12.14
DON JONES	Forton	183.4	52	393	30	13.10
D. HAYWARD	G.K.N.	210.2	55	491	37	13.27
B. EDWARDS	Frankton	271.2	67	677	51	13.27
N. WOOLLEY	Overton	184.4	43	480	36	13.33
D. WARD	Coton Hall	70	12	267	20	13.35
E. PEATE	Coton Hall	237	63	617	45	13.71
J. HUMPHREYS	G.K.N.	254	61	658	47	14.00
M. JORDAN	M.E.B.	284.1	75	788	56	14.07
L. TETSELL	Forton	134	32	370	25	14.80
M. PIERCE	Edgmond	130	33	357	24	14.87

### DIVISION THREE AVERAGES 1985

**BATTING** (qualification 10 innings, average over 25)

Name	Club	Innings	Not Out	Highest Score	Runs	Average
S. RUDD	Cathedral	19	3	85 *	656	41.00
C. BATKIN	Prees	15	7	69 *	265	33.13
P. SELLARS	Ellesmere	22	1	67	649	30.90
D. COLE	Albrighton	18	6	65 *	366	30.50
J. LARKING	Much Wenloc	k 20	1	145	568	29.89
J. BENNETT	Ellesmere	11	3	65	232	29.00
T. WOOD	Ellesmere	17	2	91	433	28.87
M. BATKIN	Prees	12	1	81	316	28.73
K. BYWATER	Fenns Bank	18	3	65	423	28.20
D. PRICE	Fenns Bank	15	0	80	405	27.00
B. CHAPPELL	Much Wenlog	k 11	2	54 *	238	26.44
P. STARLING	B.S.F.	15	2	59	338	26.00
P. WILLIAMS	Pontesbury	12	5	46 *	177	25.29
A. BEAMAN	Cathedral	19	4	57*	375	25.00

### **BOWLING** (qualification 20 wickets, average under 13)

Name	Club	Overs	Maidens	Runs	Wickets	Average
J. FISHER	Pontesbury	205.3	53	478	62	7.71
M. JARVIS	Albrighton	251.3	89	427	54	7.91
D. PHILLIPS	Ellesmere	163.1	42	355	41	8.66
P. JONES	Ellesmere	120.1	50	244	28	8.71
A. POOLER	Albrighton	103.5	33	228	25	9.12
D. THOMAS	Cathedral	279.3	78	629	63	9.98
A. MORRIS	Much Wenlock	347	108	661	66	10.02
A. MOSLEY	Harcourt	213	47	509	48	10.60
J. LARKING	Much Wenlock	124.5	43	292	27	10.81
H. EVANS	Pontesbury	279.4	100	551	49	11.24
P. ELSON	Fenns Bank	268.1	82	612	53	11.55
H. MAYNARD	Ellesmere	90.5	26	244	21	11.62
D. VICKERS	Much Wenlock	142.2	23	402	34	11.82
J. FAULKENER	Fenns Bank	82	6	266	22	12.09
N. JOHNSTON	Harcourt	184.1	64	387	32	12.09
I. CRAWSHAW	Alberbury	231.4	89	453	37	12.24
I. MOULT	Cae Glas	279.4	96	536	43	12.47
W. JONES	B.S.F.	314	97	597	47	12.70
R. PICKERING	Ellesmere	215.3	72	462	36	12.83
C. BATKIN	Prees	352	97	727	56	12.98

### DIVISION FOUR AVERAGES 1985

### **DATTING** (qualification 10 innings, average over 23)

Name	Club	Innings	Not Out	Highest Score	Runs	Average
K. NEVILLE	Calverhall	20	2	90	598	33.22
R. DYSON	Acton Reynald	13	3	68 *	298	29.80
M. HAMER	G.K.N. 'A'	12	0	66	354	29.50
A. OWEN	Acton Reynald	18	2	42 *	471	29.44
M. DAVIES	Dawley Phoenix	20	4	71	466	29.13
M. JONES	N.A.L.G.O.	18	3	71	408	27.20
P. EDWARDS	St. Georges 'A'	13	2	84 *	299	27.18
P. GUILDFORD	Calverhall	18	0	61	481	26.72
B. SUMNER	Calverhall	22	4	61	446	24.78
S. FRANCE	Hodnet	16	3	61	321	24.69
B. MANAGH	Hodnet	14	5	49 *	219	24.33
J. YEOMANS	Calverhall	17	5	51 *	291	24.25
D. SUMNER	Calverhall	14	3	59 *	266	24.18
T. KNOWLES	Dawley Phoenix	20	1	99	446	23.47
T. MORLAND	Acton Reynald	18	2	68 *	372	23.25
D. BARKER	G.K.N. 'A'	17	3	76 *	324	23.14

Name	Club	Overs	Maidens	Runs	Wickets	Average
				72572	726	2720
S. RAINE	Calverhall	312.4	107	515	96	5.36
D. THORPE	Dawley Phoenix	139.2	47	210	35	6.00
T. KNOWLES	Dawley Phoenix	222.4	81	381	55	6.93
A. DICKINSON	Dawley Phoenix	237.1	81	429	55	7.80
S. FRANCE	Acton Reynald	318	92	633	75	8.44
R. WILSON	N.A.L.G.O.	194.4	58	380	42	9.05
G. COOPER	Glynwed	198.2	61	433	47	9.21
A. MANTLE	N.A.L.G.O.	128.5	37	295	32	9.22
N. HUMPHRIES	Hodnet	170.1	63	328	35	9.37
D. HAVARD	St. Georges 'A'	283.5	91	641	68	9.43
B. MANAGH	Hodnet	186.3	68	337	35	9.63
R. THOMAS	Hodnet	78.3	21	243	24	10.13
F. HICK	N.A.L.G.O.	150.4	49	354	34	10.41
D. TUNKS	Hodnet	267.5	89	525	50	10.50 .
S. DAVIES	Acton Reynald	97.1	19	269	25	10.76
G. HUGHES	Acton Reynald	116.1	37	249	23	10.83
R. DYSON	Acton Reynald	111.3	22	285	26	10.96
M. YEOMANS	Calverhall	274.3	74	572	52	11.00
K. MYATT	G.K.N. 'A'	148.5	39	323	29	11.14
B. BULLOCK	Glynwed	122	32	260	22	11.82
B BECKETT	Ludlow 'A'	81.3	11	297	25	11.88

### **DIVISION FIVE AVERAGES 1985**

### **BATTING** (qualification 10 innings, average over 19)

Name	Club	Innings		Highest Score	Runs	Average
T. BEDDOWS	Tibberton	12	3	96 *	401	44.56
K. LEWIS	Tibberton	18	3	105 *	556	37.07
S. OAKLEY	Hanwood	19	4	99 *	526	35.07
P. DEAN	Bomere Heath 'A	A' 10	1	95	254	28.22
A. EDGINGTON	Bridgnorth 'A'	14	1	67 *	339	26.08
N. HOLCROFT	Newport 'A'	15	2	79	334	25.69
P. ENGLAND	Overton 'A'	16	2	55 *	335	23.93
T. WILLIAMS	Newport 'A'	12	2	32	203	20.30
R. MATES	Overton 'A'	15	5	50 *	201	20.10
T. BENNETT	Bomere Heath 'A	A' 11	1	49	201	20.10
P. SMART	Cae Glas 'A'	22	0	67	438	19.91

### **BOWLING** (qualification 20 wickets, average under 12)

Name	Club	Overs	Maidens	Runs	Wickets	Average
D. ASKIN	Newport 'A'	110.4	46	163	38	4.29
J. MARTIN	Frankton 'A'	90.4	21	200	30	6.67
G. BALDWIN	Bridgnorth 'A'	92.4	33	172	24	7.17
R. MATES	Overton 'A'	190.4	45	402	48	8.37
W. ROOKER	Newport 'A'	99.4	20	236	28	8.43
H. FOX	Tibberton	211.2	56	435	47	9.25
S. EVANS	Overton 'A'	187	43	436	47	9.28
R. CLAY	Frankton 'A'	145.4	41	283	30	9.43
A. MORRIS	Newport 'A'	250	67	601	63	9.54
K. LEWIS	Tibberton	251.3	83	494	51	9.69
C. HERRIMAN	Forton 'A'	195.5	64	371	38	9.76
P. TALBOT	Hanwood	139.2	19	473	45	10.51
т. воотн	Church Aston	287.1	79	663	63	10.52
C. MANNING	Overton 'A'	82.4	16	226	21	10.76
F. SAVAGE	Alberbury 'A'	221.2	65	521	48	10.85
R. BENNETT	Frankton 'A'	235.1	58	580	53	10.94
M. MADDOX	Bomere Heath 'A	154.4	48	318	29	10.97
A. PARKYN	Bridgnorth 'A'	105.1	11	300	27	11.11
S. OAKLEY	Hanwood	158.3	26	395	34	11.62
R. LAWRENSON	Overton 'A'	115.5	27	282	24	11.75
E. WILLIAMS	Overton 'A'	175.1	36	425	36	11.81

### KNOCKOUT COMPETITION RULES

The object of the competition is to promote an eleven-a-side evening Knock-out competition among member clubs of the League. The games will be played according to the M.C.C. Laws of Cricket (1980 Code) modified as under 3 below.

Organisation
The Shropshire League Knock-out competition shall be open to the twelve Division One clubs together with the four clubs emerging from the qualifying competition to be known as the Shropshire League Village Knock-out. This will be open to all Division Two, Three, Four and Five Clubs (other than second and third elevens) and arranged on an area basis with one club emerging from each of four zones. These four qualifiers will also compete as semi-finalists in the Village Knock-out.

### Bules

- Law 1
  (a) Each player must be a member of the club he represents and a current Shropshire League player as defined under League
- (b) A player who is a member of more than one club can play only for one club in the competition.

- Umpires should note that no appeal against the light shall be allowed after the commencement of the second innings unless both captains agree that further play is undesirable.
- A new ball will not be used, but a suitable re-polished or re-varnished ball of sound quality, which is acceptable to both captains, will be used throughout the game.
- Law 12

  (a) Excepting Finals, each side will have one innings consisting of twenty six-ball overs.

  (b) Provided that both captains agree prior to the commencement of play, the match may be contested over a lesser number of overs in the event of bad weather or a late start.

  (c) Before the toss for innings, the umpires shall acquaint themselves with the number of overs agreed upon by the two captains.

captains.

The interval between each innings shall be not more than ten

v 21
A match is won by the side scoring the higher number of runs in the agreed number of overs. In the event of scores being level, the side losing fewer wickets shall be declared the winner. If this is also equal the match is tied and will be replayed on the ground chosen by the visiting team.

No bowler may bowl more than five overs out of the allotted twenty. If a match of fewer overs is agreed upon, no bowler may bowl more than one quarter of the total.

Restriction on placement of fielders (League K.O. only)
At the instant of delivery, a minimum of four fielders (plus bowler and wicket-keeper) must be within an area bounded by two semi-circles, centred on each middle stump, each with a radius of 30 yards and joined by a parallel line on each side of the pitch. In the event of an infringement the square-leg umpire shall call 'no-ball.'

The fielding circles may be marked by white painted dots at five yard intervals or if possible by white plastic or rubber (not metal) discs measuring approximately seven inches in diameter.

measuring approximately seven inches in diameter.

Fixtures

(a) Both Village Knock-out and League Knock-out competitions shall be pre-drawn as far as the semi-final stages and the full draw will be notified to all clubs by the preceding 1st March and printed in the League Handbook.

(b) The matches shall be played on the ground chosen by the side drawn as the home side.

(c) Each round of both competitions will be played on a conference date specified by the Knock-out Sub-Committee and printed in the League Handbook. However, in the event of both teams agreeing, the match may be played on an earlier date than that which is laid down in the Rules providing the League Secretary is notified at least forty-eight hours prior to any such rearranged match.

which is laid down in the Rules providing the League Secretary is notified at least forty-eight hours prior to any such rearranged match.

(d) In the event of inclement weather not allowing the match to be completed on the conference date, a revised date (within seven days of the original) must be agreed by both clubs immediately and communicated within 24 hours to a member of the Knockout Sub-Committee by the home club. Failure to agree on a new date will result in the Knockout Sub-Committee defining a date on which the match shall take place.

(e) No match shall be played after the conference date - other than one rearranged under Rule 4(d). If it is found that clubs do arrange a match after the conference date, both clubs will be expelled from the competition.

(f) If either club is unable to play on the conference date and are not able to agree an earlier date they shall forfeit the match.

(g) Matches shall normally commence not later than 6.30 p.m. on the day arranged. The umpires shall call play not later than 6.45 p.m. and any side refusing to play shall lose the match.

(h) Prompt starts are essential and the toss for innings shall take place at least fifteen minutes before the scheduled starting time of 6.30 p.m. In the event of a team not being available to comply, the opposing team may, if it so wishes, exercise the right to claim the toss.

(i) The winning clubs - in each round of both competitions - shall notify the League Secretary of the result within 48 hours of the fixture taking place.

- als

  The finals of both competitions shall be played on an afternoon basis on dates to be ratified by the Knock-out sub-committee. A neutral ground selected by the Knock-out sub-committee shall be used. In the event of no ground being available the two sides will toss a coin to decide on a venue of the winner's choosing.

  The finals shall be played over two innings each side of twenty overs per innings which shall be taken alternately.

  The league will provide two new balls of good quality for each final
- final
- The members of teams competing in finals will be presented with small trophies as mementoes of the occasion.

- with small tropines as meaning.

  Umpires

  (a) All League Knockout matches shall be taken charge of by umpires appointed by the Shropshire Association of Cricket Umpires.

  (b) Umpires for the semi-finals and final of the Village Knockout will be appointed by the Shropshire Association of Cricket Umpires.

  (c) On request, the Shropshire Association of Cricket Umpires will also endeavour to supply umpires for the qualifying rounds of the Village Knockout.

### 1986 KNOCKOUT COMPETITION FIXTURES

### VILLAGE KNOCKOUT

	t Qualifying Round ed. 14th May	2nd Qualifying Round Wed. 28th May	3rd Qualifying Round Wed. 11th June
A B C D	NORTH WEST AREA Calverhall v. Fenns Bank Coton Hall v. Overton Ellesmere v. Frankton Prees v. Cae Glas	A v. B C v. D	A or B v. C or D
A B C D	CENTRAL AREA Acton Reynald v. Cathedral Alberbury v. N.A.L.G.O. M.E.B. v. Bornere Heath Hanwood v. Pontesbury	A v. B C v. D	A or B v. C or D
A B C D	EASTERN AREA Tibberton v Church Aston Harcourt v. Hodnet Forton v. G.K.N. Edgmond v. Shawbury	A v. B C v. D	A or B v. C or D
A B C D	SOUTH EAST AREA Dawley Phoenix or Craven Arms v. B.S.F. Glynwed v. Quatt Much Wenlock v. Bromfield Madeley P.C. v. Albrighton	A v. B C v. D	A or B v. C or D

Semi Finals: Wednesday, 16th July Final: Sunday, 10th August (at Wem)

### LEAGUE KNOCKOUT

1.5	st ROUND PROPER	2nd ROUND PROPER
W	ed. 25th June	Wed. 9th July
A	Newport v. Eastern Area	A v. B
В	Wem v. Wroxeter	
C	Shrewsbury v. Central Area	Cv. D
D	St. Georges v. Wellington	0 2
E Ludlow v. Oswestry		Ev. F
F	Bridgnorth v. North West Area	L V. 1
G	Whitchurch v. South East Area	G v. H
H	Shifnal v. Perkins	G V. FI

Semi Finals: Wednesday, 23rd July Final: Monday, 25th August (at Wellington)

The four area winners of the Village Knockout Competition are included in the 1st Round Proper of the League Knockout.

### LEAGUE CLUB SECRETARIES

**Acton Reynald** T. MORLAND, 73 Rowton Road, Sutton Farm, Shrewsbury. Tel.: Shrewsbury 50246 W. T. JONES, 4 Westbourne Rise, Bayston Hill, Alberbury Shrewsbury. Tel.: Bayston Hill 2011 Albrighton P. WILSON, 9 Delaware Avenue, Albrighton. Tel.: Albrighton 2585 M. COALES, Magnolia Cottage, Shrewsbury Road **Bomere Heath** Bomere Heath. Tel.: Bomere Heath 290423 Bridgnorth B. D. BACON, 283 Henwood Road, Tettenhall, Wolverhampton. Tel.: Wolverhampton 752278 M. J. E. TEECE, Broughshane, Burway Road, Church Bromfield Stretton. Tel.: Church Stretton 722021 B.S.F. P. K. STARLING, 5 Barnett Close, Wellington. Tel.: Telford 55467 H. ROBERTS, 2 Hampton Rise, Oswestry. Cae Glas Tel.: Oswestry 654728 P. FOX, 9 New Street Lane, Market Drayton. Calverhall Tel.: Calverhall 663 A. BEAMAN, 106 Monkmoor Road, Shrewsbury. Cathedral Tel.: Shrewsbury 66835 (weekends only) S. WOOD, Plot 84, High Meadows, The Rock, Ketley, Church Aston K. W. G. BATHO, Tonsberg, Clive, Shrewsbury. Coton Hall Tel.: Clive 370 E. J. SMITH, Mynd Cottage, Aston-on-Clun, **Craven Arms** Craven Arms. Tel.: Craven Arms 3797 J. D. RICHARDS, 5 Larch Wood, Randlay, Telford. Dawley Phoenix Tel.: Telford 593194 I. LOVATT, 67 Robin Lane, Edgmond, Newport. Edgmond Tel.: Newport 812454 MRS. G. STRUGGLES, 86 Berwyn View, Ellesmere. Ellesmere Tel.: Ellesmere 2429 J. FRANCIS, Jeabrook, School Lane, Bronington, Fenns Bank Whitchurch. Tel.: Redbrook Maelor 415 S. BARBER, 12 Wellington Road, Newport. Forton Tel.: Newport 814501 K. MARTIN, 9 Greyfriars, Oswestry.

K. PRICE, 8 Claybury Crescent, Montford Bridge, Shrewsbury. Tel.: Shrewsbury 850845 Marcourt **Hodnet** J. C. FRANCE, 2 Drayton Road, Hodnet. Tel.: Hodnet 619 Ludlow J. HERN, 4 Castle View Terrace, Ludlow. Tel.: Ludlow 4852 P. J. WARDEN, 1 Old Nursery Close, Victoria Road, Madeley, Telford. Tel.: Telford 588304 Madeley P.C. G. A. DAVIES, 32 Broadway, Ketley, Telford. Tel.: Telford 47816 M.E.B. Much Wenlock R. TEECE, 3 Haye Farm Cottages, Eardington Bridgnorth. J. W. REES, 67 King Street, Shrewsbury. Tel.: Shrewsbury 52255 Ext. 229 (Work) N.A.L.G.O. R. D. TEMPERTON, The Red Cottage, Newport Road, Newport Edgmond, Newport. Tel.: Newport 810787 Oswestry A. F. STRATFORD, 19 Mount Crescent, Oswestry. Tel.: Oswestry 653555 Overton E. WILLIAMS, 1 Haydock Road, Bangor-on-Dee, Wrexham. Tel.: Bangor-on-Dee 780503 N. WILLIAMS, 70 Sundorne Crescent, Shrewsbury. Perkins Tel.: Great Bolas 483 (work). S. V. CRUTCHLEY, 7 Pine Crescent, Minsterley. Pontesbury Tel.: Shrewsbury 790223 C. BATKIN, New House Farm, Marchamley, Shrewsbury. Prees Tel.: Hodnet 288 S. COLLINS, c/o Lloyds Bank, High Street, Bridgnorth Quatt C. GLASSEY, 5 Park Close, St. Georges, Telford St. Georges Tel.: Telford 618258 MRS. N. HINTON, 22 Park Avenue, Shawbury. Shawbury Tel.: Shawbury 250315 Shifnal F. W. JONES, 21 Grosvenor Gardens, Shifnal. Tel.: Telford 460355 Shrewsbury H. R. JOHNS, 'Ataka', Mytton Turn, Forton Heath, Shrewsbury. Tel.: Shrewsbury 850460 N. F. MORRIS, 'Halcyon', Tibberton, Newport. Tibberton Tel.: Sambrook 474 P. B. BYRAM, Dunnough, 111 Haygate Road, Wellington, Telford. Tel.: Telford 42613 Wellington Wem A. BROWN, 5 Trentham Road, Wem. Tel.: Wem 32120 Whitchurch MRS. J. KNOTT, Leasholme, Lighteach Road, Prees, Whitchurch. Tel.: Whitchurch 840968 W. S. COOKE, Maresol, Berrington, Shrewsbury. Wroxeter Tel.: Cross Houses 359

37

T. MEARS, 32 Buildwas Road, Wellington, Telford.

A. E. DAVIES, 36 Judith Butts Gardens, Monkmoor,

D. CONNACHER, 'Lenoura', Holyhead Road, Kingswood, Albrighton. Tel.: Codsall 2267

Shrewsbury. Tel.: Shrewsbury 65831

Tel.: Oswestry 661277

Tel.: Telford 47895

Frankton

Glynwed

Hanwood

G.K.N. Sankey

CAP	TAINS AND WEEKEND C	ONTACTS Contact
Acton Reynald	A. Owen (Hadnall 408)	G. Hughes (Bomere Heath 290559)
Alberbury 1st XI 2nd XI Albrighton	I. Crawshaw (Llanymynech 830700) F. Savage (Shrewsbury 860422)	Captains or Secretary
1st XI 2nd XI Bomere Heath	A. Pooler (Albrighton 3403) H. Jones (Wolverhampton 742524)	Captains or B. Courten (Telford 593927)
1st XI 2nd XI Bridgnorth	S. Hughes (Bomere Heath 290013) G. Mackay (Bomere Heath 290405)	M. Coales (B.H. 290423) W. Welch (B.H. 290496)
1st XI 2nd XI 3rd XI	J. Turner (Bridgnorth 5537) R. Evans (Bridgnorth 3438) A. Parkyn (Telford 597798)	Captains Ground (B'north 4919)
Bromfield B.S.F.	R. Tolley (Seifton 613) P. Rider (High Ercall 770384)	Secretary Captain or Ground (Telford 47171)
Cae Glas 1st XI 2nd XI Calverhall	A. Kemp (Llanymynech 830686) M. Fenton (Oswestry 655328) S. Heath	Captains or P. Barnett (Oswestry 654734) Secretary or M. Yeomans (Calverhall 209)
Cathedral	D. Thomas (Shrewsbury 247606)	W. E. Jones (Shrewsbury 4524)
Church Aston	A. Jones (Telford 606895)	Captain or J. Stork (Newport 811414)
Coton Hall Craven Arms	E. Peate (Wem 33305) C. Lippitt (Longville 405)	Captain A. Beard (Craven Arms 3725) Ground (C.A. 3221)
Dawley Phoenix	T. Knowles (Telford 604653)	Secretary or Captain
Edgmond	I. Lovatt (Newport 812454)	Mrs. L. M. Walker (Newport 813137)
Ellesmere	T. Wood (Ellesmere 2047)	Captain or G. Struggles (Ellesmere 2429)
Fenns Bank	J. Cheetham (Bettisfield 358)	J. Faulkener (Hanmer 384)
Forton 1st XI	P. Newbold (Newport 813361)	S. Tomkinson (Woodseaves 653)
2nd XI	P. Hunt (Adbaston 419)	J. Russell (Newport 812370)
Frankton 1st XI 2nd XI G.K.N. Sankey	E. Jones (Shawbury 250274) R. Forrester (Bomere H. 290085)	Captains or A. Barkley (Dudleston Heath 247)
1st XI 2nd XI Glynwed	D. Hayward (Telford 595828) I. Jeffs (Telford 606352) D. Connacher (Codsall 2267)	Captains or Secretary G. Cooper (Telford 583934)
Hanwood Harcourt Hodnet	S. Oakley (Shrewsbury 860666) R. Phillips (Clive 258) D. Tunks (Hodnet 641)	Captain or Secretary Captain or Hodnet W.M.C. (Hodnet 331)
Ludlow 1st XI 2nd XI 3rd XI	J. S. Johnson (Ch. Stretton 722655 J. S. Hern (Ludlow 4852) D. L. Small (Ludlow 2825)	

	x	
Madeley P.C. M.E.B.	D. Hitch G. A. Davies (Telford 47816)	Secretary Captain or Shrewsbury 4920
Much Wenlock 1st XI 2nd XI N.A.L.G.O.	A. Morris D. Myers G. Hall (Shrewsbury 58077)	Captains or D. Gibbon (M.W. 727671) R. Harris (Shrewsbury 65597) Ground (Shrewsbury 53659)
Newport 1st XI 2nd XI 3rd XI	T. Shepherd (Telford 618061) N. Curtiss (Newport 810179) T. Williams (Telford 582782)	Captains or J. Davenport (Newport 810859) Ground (Newport 810403)
Oswestry 1st XI 2nd XI 3rd XI Overton	J. Evans (Oswestry 654300) D. Humphreys (Oswestry 652889) R. Wildgoose (Oswestry 650554)	Captains Ground (Oswestry 653006)
1st XI 2nd XI	M. Lawrenson E. Williams (Bangor-on-Dee 780503	N. Woolley (Overton 363) )C. Austin (Wrexham 820392)
Perkins 1st XI 2nd XI Pontesbury	R. Wilding (Shrewsbury 68353) A. Rowley (Shrewsbury 57526) G. Williams (Shrewsbury 58320)	Captains  R. Challinor
Prees	P. Prince (Wem 33499)	(Shrewsbury 790615) M. Batkin (Hodnet 288)
Quatt	B. Jones (Quatt 780639)	L. Jones (Quatt 780018)
St. Georges 1st XI	R. Marsh (Cheslyn Hay 413780) K. Newbrook (Telford 585912)	Captains, R. Price (Telford 42901) or Ground
2nd XI 3rd XI Shawbury	D. Overton (Telford 606218) D. Hinton (Shrewsbury 59985)	(Telford 612911) T. Hinton (Shawbury 250315)
Shifnal 1st XI 2nd XI Shrewsbury	A. Shelley (Telford 883527) P. Evans (Telford 460314)	G. Evans (Telford 460314)
1st XI 2nd XI	J. Foster (Shrewsbury 245686) W. Bromley (Great Bolas 243)	L. Blackshaw (Shrewsbury 62905) Ground (Shrewsbury 63655)
Tibberton Wellington	K. Lewis (Telford 616218)	Captain
1st XI 2nd XI 3rd XI	J. Smith (Telford 506828) D. Benting M. Read (Telford 461836)	M. Read (Telford 461836) Ground (Telford 51539)
Wem 1st XI 2nd XI Whitchurch	R. Tooze R. Apperley (Hodnet 759)	Captains or D. Walker (Wem 33327)
1st XI 2nd XI	D. Ashley (Whitchurch 5114) R. Venables	Captain Ground (Whitchurch 3923)
Wroxeter 1st XI 2nd XI	T. Fern (Welshpool 2944) K. Mears (Telford 605889)	R. A. Jones (Uppington 276) Ground (Uppington 214)
	20	

### UMPIRES PANEL

### APPOINTMENTS SECRETARY:

M. Sheehy, 167 Lancaster Road, Heath Farm, Shrewsbury. Tel.: Shrewsbury 61651.

### FULL LIST:

Neville Birch, 8 Port Hill Close, Shrewsbury. Tel.: Shrewsbury 3650. Jim Davenport, 9 Mentone Crescent, Edgmond. Tel.: Newport 810859. lan Forrester, Bridge Holding, Bomere Heath. Tel.: Bomere Heath 290253. Eddie Gardner, 32 Conduit Lane, Bridgnorth. Tel.: Bridgnorth 2085. Glyn Goodwin, Court House Farm, Richards Castle. Tel.: Richards Castle 242. Tony Jones, 62 Ardern Avenue, Dawley. Bill Moss, 11 Grosvenor Gardens, Shifnal. Tel.: Telford 460725. Tom Parker, 11 Hopton Drive, Sundorne, Shrewsbury. Tel.: Shrewsbury 65353. Dave Roberts, 13 Clun Close, Wellington. Tel.: Telford 3084. Ken Roberts, 'Rexton', West Street, Oswestry. Tel.: Oswestry 659145. Mike Sheehy, 167 Lancaster Road, Heath Farm, Shrewsbury. Tel.: Shrewsbury 61651. Clive Smith, 12 Upper Road, Meole Brace, Shrewsbury. Tel.: Shrewsbury 55383.

### SUPPLEMENTARY LIST:

Eric Fidlin, 21 The Drive, Swinfen Hall, Lichfield. Tel.: Lichfield 480185. Bryan Foulkes, 'Inglefield', Four Crosses, Llanymynech. Tel.: Llanymynech 830266. Bill Hill, 17 Woodside, Coalbrookdale, Telford. Tel.: Ironbridge 2032. Ken Hughes, 102 Haygate Road, Wellington. Tel.: Telford 54447.

Jack Wilson, 'The Firs', Rowton, Telford. Tel.: High Ercall 770405.

Bert Langford, 9 Avenue Road South, Newport. Tel.: Newport 811057. Jim Strachan, 50 Audley Road, Newport. Tel.: Newport 813666.

### 1985 LEAGUE REPRESENTATIVE GAMES

### PRESIDENT'S TROPHY (NATIONAL KNOCKOUT)

1st Round. 23rd June at Whitchurch. Won by 29 runs. Shropshire League 125-9 (R. Burton 27, W. Bott 25) North Staffs. & District League 96 (B. Perry 3-18, J. Roberts 3-19, J. Smith 2-15)

2nd Round. 14th July at Knypersley. Lost by 6 wickets. Shropshire League 183 (K. Humphreys 86, S. Gale 33) North Staffs. & South Cheshire League 186-4.

### RAYBURN AGA HEAT TROPHY (MIDLANDS CLUB CRICKET CONFERENCE KNOCKOUT)

1st Round. 20th June at Shrewsbury. Won by 60 runs. Shropshire League 182-7 (D. Williamson 49, W. Bott 42 \*, P. Massey 35) Border Counties League 122 (B. Perry 4-25, P. Massey 3-35, J. Pollard 2-32)

2nd Round. 18th July at Newport. Won by 119 runs. Shropshire League 225-3 (W. Bott 102, D. Williamson 47, S. Gale 46) North Warwickshire League 106 (J. Roberts 4-22, P. Ranells 3-18, J. Smith 2-13)

3rd Round. 8th August at Shrewsbury. Won by 71 runs. Shropshire League 188-7 (B. Perry 58, W. Moore 44, J. Foster 41)
Rugby Advertiser League 117 (D. Williamson 4-13, A. Donald 3-38, A. Shelley 2-32).

Semi-Final. 16th August at Shrewsbury. Won by 37 runs. Shropshire League 122 (R. Burton 51, B. Perry 28) Central League 85 (B. Perry 4-15, J. Roberts 2-21, P. Ranells 2-24)

Final. 9th September at Edgbaston. Won by 43 runs. Shropshire League 204-6 (R. Burton 38, P. Ranells 36, S. Gale 31, W. Bott 29 \*, J. Foster 29, K. Humphreys 21) Staffordshire Club Championship 161 (J. Roberts 4-21, R. Tudor 4-29)

### OTHER GAMES

Annual Match. 14th July at Wellington. Won by 6 wickets. Wellington 144 (S. Raine 4-19, D. Hayward 2-27) Shropshire League XI 147-4 (M. Wright 50, D. Newbrook 47, S. Hughes 32).

### ON THE BALL... FOR ALL CLASSES OF INSURANCE





F5/12

### DAVID BUNTING FARM SUPPLIES

Supplier of agro-chemicals dairy hygiene products and farm sundries

Oldberrow Windsor Lane Bomere Heath Shrewsbury

Tel.: Bomere Heath 290404

### SHREWSBURY OFFICE SERVICES

Photocopying — Duplicating — Printing Plan-Printing — Enlarging — Reducing

Prompt and Efficient Service at Reasonable Rates

8a COLLEGE HILL, SHREWSBURY Telephone: 57251

### E. G. FOULKES & SON LTD.

The Old Brewery Kingsland Road Shrewsbury

Egg and poultry packers and wholesalers
Shops, hotels, restaurants supplied
Telephone: Shrewsbury 3091/2669

### E. C. C. QUARRIES LTD.

LIMESTONE PRODUCTS

LEA QUARRY . MUCH WENLOCK SHROPSHIRE

Tel.: Much Wenlock (0952) 727324

### TENCH (sports) LIMITED

Cricket Specialists Agents for: Gray-Nicolls Slazenger Gunn & Moore Newbery Stuart Surridge

For the WIDEST range of Cricket Equipment at the BEST prices. Please send for a FREE catalogue. It will pay you!

S4 Arndale Centre . Middleton . Manchester Telephone: 061-643 7515



Brian and Mary invite all friends of

CAE GLAS C.C.

to a drink at

THE BEL **CHURCH ST, OSWESTRY** 

for fine traditional beers and a friendly atmosphere

